
UNIVERSAL ALUMINUM BRACKET
INSTRUCTIONS

Installation Tools:
• 9/16” & ¾” Socket with ratchet
• 9/16” & ¾” Wrench
• 1/2” Steel drill bit with drill
• 1/4” Allen wrench (Micro install only)
• 1/2” Socket with ratchet (Micro install only)
• 1/2” Wrench (Micro install only)
• Pencil

 

 

      9010 Palm River Road • Tampa, FL 33619 • phone 813.689.9932 • fax 813.689.8883 • power-pole.com 

Universal Aluminum Bracket  

Note: This adapter bracket can be mounted on either port or starboard. 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Hardware: 

A. (1) Adapter plate 
B. (1) Brace 
C. (1) Backer plate 
D. (4) 4 & ¼” x  ½” Transom bolts 
E. (4) ½” Lock nuts 
F. (8) ½” Heavy thunder washers 
G. (4) 3/8” x 2” Power-Pole anchor bolts 
H. (4) 3/8” Neo-bond washer 
I. (4) 3/8”  Heavy thunder washer 
J. (4) 3/8” Lock nuts  
K. (4) 5/16” x 1 & ¾” Micro anchor bolts 
L. (4) 5/16” Heavy thunder washer 
M. (4) 5/16” Lock nuts 

 

Installation Tools: 

 9/16” & ¾” Socket with ratchet 
 9/16” & ¾” Wrench 
 ½” Steel drill bit with drill 
 ¼” Allen wrench (Micro install only) 
 ½” Socket with ratchet (Micro install only) 
 ½” Wrench (Micro install only) 
 Pencil 

D. E.  

B. 

C. A. 

F. G. H. I. J. K. L. M.  

NOTE: �This adapter bracket can be mounted on either port or starboard.

Hardware
A. (1) Adapter plate
B. (1) Brace
C. (1) Backer plate
D. (4) 4 & 1/4” x 1/2” Transom bolts
E. (4) 1/2” Lock nuts
F. (8) 1/2” Heavy thunder washers
G. (4) 3/8” x 2” Power-Pole anchor bolts
H. (4) 3/8” Neo-bond washer
I.  (4) 3/8” Heavy thunder washer
J.  (4) 3/8” Lock nuts
K. (4) 5/16” x 1 & 3/4” Micro anchor bolts
L. (4) 5/16” Heavy thunder washer
M. (4) 5/16” Lock nuts



Installation Instructions:

STEP 1. ���Place bracket (A) up against the outer lip of rub rail as illustrated and mark the hole locations. FIG. 1

STEP 2. Drill the marked hole locations with a 1/2” steel drill bit.

STEP 3. Place heavy thunder washers (F) onto bolts (D).

STEP 4. With adapter plate (A) in position install two transom bracket bolts (D). FIG. 1 Section 1.1

STEP 5. �Place backer plate (C) onto transom bolts (D) followed by a thunder washer (F) and thread lock nut (E) onto each bolt 
and tighten. FIG. 1 Section 1.2

ALUMINUM BOAT ADAPTER PLATE 

Figure 1

Page 2 of 4 

9010 Palm River Road • Tampa, FL 33619 • phone 813.689.9932 • fax 813.689.8883 • power-pole.com 

 

 

 

Installation Instructions: 

Step 1 Place bracket (A) up against the outer lip of rub rail as illustrated and mark the hole locations. Figure 1 

Step 2 Drill the marked hole locations with a ½” steel drill bit. 

Step 3 Place a heavy thunder washer (F) onto bolts (D). 

Step 4 With adapter plate (A) in position install two transom bracket bolts (D). Figure 1 Section 1.1 

Step 5 Place backer plate (C) onto transom bolts (D) followed by a thunder washer (F) and thread lock nut (E) 
onto each bolt and tighten. Figure 1 Section 1.2  

Step 5 Place washers (F) onto each bolt and thread lock nuts (E) on and tighten. Figure 1 Section 1.2

Figure 1 

Transom lip 

F. D. 

A. 
Boat Transom 

C
.

E. 

E. 

F. 

Transom lip 

Outside Transom View
Section 1.1

Inside Transom View
Section 1.2



STEP 6. �Place brace (B) on top of adapter plate (A) aligning holes and push the two remaining transom bolts (D) through 
brace (B), adapter plate (A) and backer plate (C). FIG. 2 Sections 2.1& 2.2

STEP 7. �Place thunder washer (F) onto remaining bolts (D) and thread lock nuts (E) on and tighten. FIG. 2 Section 2.2

ALUMINUM BOAT ADAPTER PLATE 

Figure 2

Page 3 of 4 

 

 

9010 Palm River Road • Tampa, FL 33619 • phone 813.689.9932 • fax 813.689.8883 • power-pole.com 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Step 6 Place brace (B) on top of adapter plate (A) aligning holes and push the two remaining transom bolts (D) 
through brace (B), adapter plate (A) and backer plate (C). Figure 2 Sections 2.1& 2.2 

Step 7 Place thunder washer (F) onto remaining bolts (D) and thread lock nuts (E) on and tighten. Figure 2 
Section 2.2 

 

  

Figure 3 

Figure 2 

Outside Transom View 
        Section 2.1 

 

Inside Transom View 
      Section 2.2 

 

Boat Transom 

 
B. 

C. 
D. F. 

F. 

F. 

 

E. 

E. 

Transom lip 

Inside Transom View
Section 2.2

Outside Transom View
Section 2.1



ALUMINUM BOAT ADAPTER PLATE 

Need help? Contact our Technical Support Team at 1 + 813.689.9932 Option 2

9010 Palm River Road, Tampa, Florida 33619 
phone 813.689.9932 fax 813.689.8883 • power-pole.com 
©2018 all rights reserved. Power-Pole Shallow Water Anchor U.S. Patent No. 6,041,730 

STEP 8. ����Install the bolts and hardware as illustrated for your Power-Pole or Micro anchor and tighten. 
FIG. 3 & 4

Page 4 of 4 

 

 

9010 Palm River Road • Tampa, FL 33619 • phone 813.689.9932 • fax 813.689.8883 • power-pole.com 

 

 

 

 

 

 

 

 

 

Step 5   Step 8 Install the bolts and hardware as illustrated for your Power-Pole or Micro anchor and tighten. Figure 3 & 4 
 

 

 

For Technical Support Call 813-689-9932 opt. 2 

 

J. 

Figure 3 

I. 
H. 

G. 

Outside Transom View 

Inside Transom View 

Figure 4 

Micro adjustable mounting bracket 

M L K 

Inside Transom View 

 Outside Transom View 

 

Figure 3

Figure 4


